Question 1
Question text
Which condition best describes 'radical uncertainty'?
Select one:
a. Known Knowns
b. Known Unknowns

¢. Unknown Knowns
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d. Unknown Unknowns

Question 2
Question text
Which of the following may not be so visible in COVID-19 struck countries?
Select one:
a. Technological and organizational innovations
b. Protectionism

c. Increasing role of the state
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d. Increased trade and commercial activities among countries to overcome adversities

Question 3

Question text

Which of the following is not true?

Select one:
a. Uncertainties of the future are going to be new normal.
b. Known unknowns reflect knowledge gap.

c. Innovation ought to be integral part of new normal.
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d. Radical uncertainties can be adequately taken care of by resilience in policy making.



